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1. P, Q WMMID R 6T66TLIET 6T6m6UGUIED)|LD
CLPGOTN)| &H6v0TMRIG6T 6eT6vfley, P — (Q N R)

6T60TLI G |


https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_x014yDqpe82K

A(PNQ)—R
B.P - (QUR)
C.(P-Q)U(P—-R)

D.(P—-Q)N(P—R)

Answer:

o Watch Video Solution

2. n(A U BUC) =100, n(A) = 4x, n(B) = 6x,

n(C) = 5x, n(ANB) =20, n(BNC) = 15,


https://dl.doubtnut.com/l/_x014yDqpe82K
https://dl.doubtnut.com/l/_DXt63xJX0eCg

n(ANC) =25wmmIbn(ANBNC) =10
6160116V, X-@Q 60T LG LILY

A.15

B.10

C. 25

D. 30

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_DXt63xJX0eCg

3.1/80 = k+/5 e160fl6v, k = ...

A 4
B. 22
C.8

D. 16

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_KiEhdpAHuDly

4.,/9° = v 9 etevilev, x = ..........
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o

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_KUNf8gQdlt4p

5. (ULl Levey|MILILIS GSTenI6UsH (S

SIS SHLLFLD Grhflw
B (H&HSHEVMLD.

A 2

B. 12

C.3

D. 4

Answer:

&ITJ6001 &6l

o Watch Video Solution



https://dl.doubtnut.com/l/_IqXrdhXrBBJw

6. GUL_ L THITMSHIJLD, ABCD-6v,

LA = dx, LC = 2z 616016V, x-Q 60T LD LIL

A. 20

B.30

C.15

D. 25

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_sojY9AtveBOH
https://dl.doubtnut.com/l/_OdBRCkk6yVdj

7. &0 grailen SiFlapenm

elLMmeTer 2 m|LILil6oT oG LIL.

A &G

B. H1&HLP6l 66T

C. (&0

D. Q6DLHlem6v 366

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_OdBRCkk6yVdj

8 (Wsev 10 (WP

L 60IL_H6DI6V SHETTEY .

A. 45

B.42

C.5

D.5.5

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_JNBm4ExoLO6h
https://dl.doubtnut.com/l/_Pg8pQQIaZ3d0

9. A = {befg} WMHMID B={cegh} er6vilev,
& 6001l &611l 65T C&ITLIL Lflommm) L

L1630TL| SH60)6ITE SFIfILIMTESH6YLD.

o Watch Video Solution

10. GleuesoTLIL LD 6uemfsh. A U (B N C)

o Watch Video Solution

(243)°

1. G| &HM60618?

. l


https://dl.doubtnut.com/l/_Pg8pQQIaZ3d0
https://dl.doubtnut.com/l/_ZhxXALhiGHZj
https://dl.doubtnut.com/l/_PJbjRvdU0Zew

L " Watch Video Solution )

12. G:(H&H(G5. /63 — /175 + /28

o Watch Video Solution

13. 2 6UBHLDESHEIT 615 M6 S GOy

7000,000,000. Q§5gs6Usmev  Sinledluley

GMWIL G 6ulgafev 61(LD&)|5.

o Watch Video Solution



https://dl.doubtnut.com/l/_PJbjRvdU0Zew
https://dl.doubtnut.com/l/_VzCxaJEfsWld
https://dl.doubtnut.com/l/_A3SXODh5mwZm

14. (x + 2) eledTUg| z° — 4z — 22 + 20 -

Q661 62 (1hH SIMy6voil 61601S &ML (h 5,

o Watch Video Solution

15. (22 + 3y + 42)* -Q6t1 @lifley &Mesors.

o Watch Video Solution

16. a + b = 6, ab = 5 eT6vilev, a® + b° V&

&HT60015.



https://dl.doubtnut.com/l/_wxE5pc2iHZQa
https://dl.doubtnut.com/l/_Ou97xpThfgXd
https://dl.doubtnut.com/l/_ds78H46x7EhC

o Watch Video Solution

17. 2° Q65T L 165ILIS ST6T0TS.

&2

o Watch Video Solution

18. LL§S6V 6laM(h&HSLILIL(H6Tem Ul L
HMMH&JD  ABCD Q60T  SI6060155)]
C& MU S6D 6T LD &T650TS.

&2

| & I


https://dl.doubtnut.com/l/_ds78H46x7EhC
https://dl.doubtnut.com/l/_x1trAbfvsOtr
https://dl.doubtnut.com/l/_HaIAroldETWs

| ¥ Watch Video Solution |

19. 2(1h (H(HLOLIGF6V 2 61T6IT 4 HLITS6rT 66T
6T60)L_&6rl60T FIN&Hl 60 &l. &l. SHeUJSH6rT6V
CLDGUTI60T 6TEDL &6 56 &l. &, 68 &l. &),
LLMMILD 72 &l. &l 616v1l6V [HMEBTSHTLOG 60T

6160 L_60) Wl &HIT600T5.

o Watch Video Solution

20. ®(hH WLLeOLL UhGTLLGHL 60 11

alTiaeT (555 @@L LMh&6T (penmGuw 7,


https://dl.doubtnut.com/l/_HaIAroldETWs
https://dl.doubtnut.com/l/_WFp8zdHj3Kcx
https://dl.doubtnut.com/l/_Jg0SoixILWGi

21, 45, 12, 56, 35, 25, 0, 58, 66, 29 el6vilev ,

SieUMN)6dT Q60IL_H6DI6V SH6TT6) &HIT60TS.

° Watch Video Solution

21. Qan(h&sLULL(HeTeT  5IeUsEHS(S)

(W& (h &Meves : 3.1, 3.2,3.3,21,1.3,3.3, 3.1

o Watch Video Solution

22.U=1{4,7,8,10, 11,12, 15, 16} A = {7, 8, 11, 12}

LoMMILD B = {4, 8,12, 15} eT6vilev (A U B)’ 84


https://dl.doubtnut.com/l/_Jg0SoixILWGi
https://dl.doubtnut.com/l/_mVovgYEmLdBX
https://dl.doubtnut.com/l/_e4hiCm15eNVY

&HIT6001 .

o Watch Video Solution

23. (x - 1) eledrlg| kx® — 2z* + 25z — 26
W UNGTM 61(8H(G606sN6v (6U(GHGHE) k-

60T LG LI6DILI &HIT6T0IS.

o Watch Video Solution

24. A = (11,13,14,15,16,18) B = (11, 12, 15, 16, 17, 19)

mmib C = (13, 15, 16, 17, 18, 20} eT6oTM


https://dl.doubtnut.com/l/_e4hiCm15eNVY
https://dl.doubtnut.com/l/_dlW1kqj4rtJ3
https://dl.doubtnut.com/l/_b8HbOK80E4xI

S6001Thl & (6Th&h(F)
AN(BUC)=(ANB)U(AnCQO)

6T60TLIE0N & & FHILIMTS5.

o Watch Video Solution

25. GleuedoTLIL Mi&GemeT  LuwedTL(h& &) &

giilumy: (AUB)' = A’ N B’

° Watch Video Solution



https://dl.doubtnut.com/l/_b8HbOK80E4xI
https://dl.doubtnut.com/l/_3BVuM4ssZ74j

26. 1000 adleugmuilserilLLd MHLGHGHLILILL
Spllailey, 600 alleugmuilger  6lmev
LWflILLgn&ed, 350  alleusmuilsel
CaHLDEUT(S) LuffL L gM&e) LD, 280
elleugmuil e &S MECEMeITLD
LUNfLLgM&eID 6lgflallgseor). GLoey|LD,
120 ealleugmuilser  6lhev  LMHMILD
CaLDeU(&, 100 elleugnuiigeT GCsLDeU(S
LMHMILD &HHTECHMETLD, 80 afleugmuilgel
6IMH6V LOMHM LD LD&HSMEFCHFMeL
Lulfsememuyd LUilflLL6oTl]. 696)6l6UM(TH

elleugmuiluwyLb GLDO M &680TL_6U M NJl6v


https://dl.doubtnut.com/l/_VmWioeRNckKq

GeMHsgl @ uwlgneug| Luwlly
ClaWg My eresilev, cLpeoTm)| LIUNfEHem6muLD
Luffl edleugmuilserfleot

61650160011 &HED)HED) W& SHIT6BOTS.

° Watch Video Solution

27. ejieuflenauiev 61(L0 &) &: /2, ¥4, /3

° Watch Video Solution



https://dl.doubtnut.com/l/_VmWioeRNckKq
https://dl.doubtnut.com/l/_V1ZqIzUJtgnw

28. a = 4, b = 5 MWD ¢ = 6 el6viley,

[czl)—i—bc—l—C(z—a,2—l)2—c2 Qe

3abc — a3 — b3 — ¢3

LG LIL] &IT600TS.

o Watch Video Solution

29. 6 (1H (HLaWil(HLUILII6V 6UM(LOLD LO&S6TTI60T
61650160011&5H600&  6UWIS60T HlqLliLienL_uilev
Clam(h&aLLL(heTerngl.  (HluilpLiLiley

GUM(LOLD LD&SET60T  FUMEf UGS


https://dl.doubtnut.com/l/_gTvIyb0xfiRZ
https://dl.doubtnut.com/l/_kEXJXof3Qmcy

&HIT6001 .

&2

° Watch Video Solution

VT -2
VT2

60T L& LIL| &H6D)6TTE SHIT65015.

30

= a+/7 + b eTev76v, a LDMHMILD b-

o Watch Video Solution

31. 0 6OILOWILDITS 2 6D W QUL L &8l6v AB

LMMID CD eT6TLIENT Q(H L) 60650TUITET


https://dl.doubtnut.com/l/_kEXJXof3Qmcy
https://dl.doubtnut.com/l/_wyz2RWMFqM5m
https://dl.doubtnut.com/l/_bJ2yIuAK61Yf

THITETOTHET Sh(GLD. GLOSY|D SbhJLD 10 6l&LDS,
AB =16 6l&L0 LOMMILD CD = 12 Cl&L0 eT6vi6n,
Q(H HM6BOTSH(EHH(G QemL_LILiemL LILILL

GG MTEmEVEm6UE) &TLOM6sN&Hs.

° Watch Video Solution

32.6.5 G1&.L0. LI&HS S16T6)HEDI6NH 6] SHTesoTL
FLOUSS (LP&HCBMT6TBILD 6UED ]S
SADPHCHMETTIHFHMSHS  (55SISH6HMT(H

60)LDWILD &HIT600T&.

° Watch Video Solution



https://dl.doubtnut.com/l/_bJ2yIuAK61Yf
https://dl.doubtnut.com/l/_hv4eHf4RCK70



https://dl.doubtnut.com/l/_hv4eHf4RCK70

